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). (3) AgCl. AgBr. Agl
1.
( 1
) i K\_I,( AgCl) Kﬂ,( AgBr) K\_p( Agl)
3 ) K 1.8x10° 1 5.0x10°1 8.3x107"
* : sp
> B. pH=3  CH,COOH pH = . . . 4
11 NaOH pH >7 .
C. N N
D. N, +3H, =—=2NH,

3v (H,) =2v (NH,)
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0.002 mol « L™"  NaCl 0.002 mol * L™
AgNO, o (1) AgCl

?(2)

Ag" C1I7?

?(3)

Ag® Cl7? (4)
Cl™  ¢( AgNO,) ? (5)

L(1)Q=c(Cl7) - c(Ag") =
0.001 x0.001 =1 x107° > K_( AgCl)

47 .

NE
13 ?77
2. .
2: (1) : AgCl( s)
M pel(s) e(KI) = ¢( NaCl) =

NaCl( aq)

o (2) c(Ag™) =c(Cl7) = /K, (AgCl) =
V1.8x107° =1.34 x10 " mol » L™", (3)
AgNO,
Cl-;
NaCl
Ag'o (4) c(Ag") =
K, (AgCl) /e(€17) =1.8 x107°/1.34 x 10~ =

1.34x10 " mol * L', AgNO,
- (5)
1: (1) AgCl
D AgCl(s) ==Ag" (aq)
+Cl " (aq) - (2) <l
%107 mol + L™ o (3)
- (4)
( )
(1)
(2)

? (2) AgCl(s) +1 (aq)
==Agl(s) +Cl (aq) c(Cl7) /e(17)
K. (3) 0.10 mol « L™
NaCl  KI AgNO,
AgCl c(17) ? (4)
Agl AgCl? (5)
N ?
Cu’* . Pb>* . Hg’"
Cu®” FeS o

Na,CO, .
: CaS0,(s) ———CaCO,(s) —Ca "

: Ca; (PO,),0OH + F~ —
Ca,( PO,) ,F +OH"

2:(1) AgCl c(Ag™)
=¢(Cl7) =1.34x10 7 mol * L' ¢(KI) =¢(17) =
K, (Agl) /c(Ag") =8.3x107"/1.34 x 10 =6.19 x
10" mol « L' Agl c(Ag™)

=(1") = /K, (Agl) = v/83x107"7 =9.11 x10” mol
L7 ¢(NaCl) =¢(C17) =K, (AgCl) / ¢(Ag™) =1.8
x107°/9.11 x10™ =1.98 x10 *mol * L',

:c¢(NaCl) /¢(Nal) =1.98 x
10 mol * L™'/6.19 x 107" mol « L™ =3.20 x 10’

o (2)e(Cl7) /e(17) =K, (AgCl) /K ( Agl)
=1.8x107"/(8.3x107") =2.17x10°. K=¢(Cl")/
e(17) =2.17x10°, (3) AgCl c(Ag")
=K, (AgCl) /e(C17) =1.8 x107°/0. 10 = 1. 8 x

107 mol « L™ ¢(17) =K, (Agl)/c(Ag") =
8.3x1077/1.8 x10™° =4.61 x10™* mol * L™", (4)
KI
AgCl Agl

Agl. (5) FeS
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CuS. PbS. HgS CuS; CaSO,
K, (CaS0O,) >K ( CaCO;)
:CaS0,(s) +CO: (aq) =—=CaCO,( s)

+S0; (aq) CaCoO, ;
2:(1)
- (2)
o (3) K=
10° © K<107
o AgCl
Agl
K=1/(2. 17><106) =4.6x107’
- (4)
(1)
”» 5 (2)
- (3)
3.
3:
K,CrO,
Cl~ o 2
2
AgCl AgBr AgCN  Ag,CrO; AgSCN
1.34x  7.1x I.1x 6.5 % 1.0 x
/mol + L='  10°° 107 10 -8 10 ~° 10 -°
(1) .
(2) AgNO, NaSCN
_ ) o
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A.NaCl B.BaBr, C.Na,CrO,
(3)
3:(1) AgCl
Ag,CrO, Ag®  Cl° Cl™
Ag,CrO,

o (2)  AgNO;,

NaSCN Ag”®
AgSCN
AgSCN AgCl  Ag,Cr0,
AgCl Na,CrO,
( - ) - (3)
2Ag" +Cr0)” =—=Ag,C10, | »
3:(1)
( Ag’
Cl™\Br .I" )o (2)  K,CrO,
AgNO,
cAgt +ClT=—=AgCl | (
) 2Ag" + Gr0;” =—=Ag,Cr0, | ( ) o
AgCl  Ag,CrO,
(1)
( 2014 )
- (2)
K,CrO, o
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